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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere

other than the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 68/S/0, Set-:zl on the Answer-Book.

The Question Paper is bilingual. In case of doubt, the English version should be considered

as authentic.
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General Instruction / AT 319397 :
In case of any doubt or confusion in the question paper, the English Version will prevail.

TS H TREl W Wb o HeE ST giaen sl Rafq 7 sl sigare & 7 Bl

NOTE / fadwr :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
et gl o ITR TR & Tl SR gRaeht H & foe |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

29 Y951 I Ygd & fau 15 e o1 wma o @ 1| 999 ot forer et
T 02.15 o=t foram ST@M| 02.15 a1 9 02.30 &S b B haldd ¥99-9F bl qGil
3R 39 3mafY o SRM I STL-YRehl R g S Tl faa |
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ACCOUNTANCY

TR

(224)
Time : 3 Hours] [Maximum Marks : 100
g 3 "] [qurics : 100
Note : (1)  This question paper consists of 45 questions in all.

(ii))  All questions are compulsory. Internal choice is given in some questions.

(iii)) Marks are given against each question.

(iv) Section — A consists of Q. No. 1 to 20 that are Multiple Choice Questions
(MCQs) carrying one mark each. Select and write the most appropriate option
out of the four options given in each question.

(v) Section — B consists of Objective type questions No. 21 to 23 carry 2 marks
each and Q. No. 24 to 29 carry 4 marks each. Attempt these questions as per
the instruction given for each question.

(vi) Section — C consists of
(a) Q. No. 30 to 35 very short answer questions carrying 2 marks each to be

answered in the range of 30 to 50 words.
(b) Q. No. 36 to 41 short answer type questions carrying 3 marks each to be
answered in the range of 50 to 80 words.
(¢) Q. No. 42 to 45 long answer type questions carrying 5 marks each to be
answered in the range of 80 to 120 words.
R (i) 39 999 H P 45 s 2|
(i) @ yeT e §1 38 uedi H enale fawew @ ™ ¥
(iii) Us 99T & @ ofdh 29 ™ ¥

(iv)

v)

(vi)

FAM —F ¥ Yo T 1 ¥ 20 T UA% TH o dd, Sgiabedl U9 |

TEE U # T T R faeedl § @ gaitue Iuga faeed &1 99T h

fafgui

FPAM — @ H 2 3 I IEIH UBR & UST G 21 ¥ 23 q& & o

4 3 I UsT T 24 W 29 T § | Y% U &g o4 T fdett &b egEn

3% & Bl

Fgam — T F afafad ¥

(a) 2 &% I Yo " 30 ¥ 35 & offd @gSTX d| usd € fewe
SAX 30 | 50 gisE @ " H femn S g

(b) 3 i o YsT WAl 36 § 41 db @YSAX A YT ¥ e wax
50 & 80 s @ "W A fomm S og)

(c) 5 3 O W9 TG 42 § 45 T SHSH O W9 & el $Sax
80 ¥ 120 gr=af w1 A H fomm S R

““UNNATI EDUCATIONS

For Solutions, Contact Us
9899436384, 9654279279



SECTION-A / favm-A

(Question No. 1 to 20 are MCQ of 1 Mark each.)
@9 W& 1 A 20 oF TAF 1 IF A GgREaE 99 ¥ )

1  Which one is not a tangible asset? 1
(A) Stock (B) Computer
(C) Plant & Machinery (D) Computer software
e S
(A) @4 (B) &KX
(C) &= q weied (D) HIEX QHIIAT
2 Stock is valued at: 1

(A) Cost price

(B) Market price

(C) Cost or market price whichever is less
(D) Cost or market price whichever is more
Wy Tedifha fpaT AT @

(A) @Fd a8 WX

(B) "™ g W

(C) W@Fd el SR Jed, Sl 6l A &

(D) @ el SR e, S W S

3  The nature of capital is: 1
(A) an asset (B) a liability
(C) an income (D) an expense
ERUCIIRC AN
(A) U wH (B) wH g
(C) & s (D) & =™
4  According to the Business Entity Concept: 1

(A) Transactions between the business and its owners are not recorded.

(B) Transactions between the business and its owners are recorded
considering them to be one single entity.

(C) Transactions between the business and its owners are recorded from the
business point of view.

(D) None of the above

AT THTE ST %

(A)W@W@Tﬁra&é’ﬁ weq erfieifRaa € fopd o

(B) mﬁwﬁswﬁ%éﬁgéﬂéﬂ % Th & B AW g Sifheiad

|
(C) =9 Td I8k @Ml & S U W, FIE™ % GRehvl § AHarad f6d S ¢ |
(D) SWed & ¥ &l Tl
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5  Expenses like rent, commission, insurance etc. are recognised on the basis 1
of period to which they relate and not when they are paid, it is based on:
(A) Matching principle (B) Materiality
(C) Going concern concept (D) All of these
fotman, e, 9 ST @ defud oty ¥ dee™ W &, 7 6 S 9
fd ™ Bl ¥' emuiia &

(A) fem fasia (B) wmxar
(C) dq FIE™ AL (D) ¥ |+
6  According to which of the following concepts, business is considered 1
distinct from its owner?
(A) Business Entity (B) Going concern
(C) Matching (D) Consistency
1 & 9 foog o@umRon & SR HEAE™ Bl I8k @l § UG HET Sl 87
(A) =AU 3B (B) a1 9™
(C) tHa™ (D) ®raar
7  Same method of depreciation is used year after year, based on: 1
(A) Going concern concept (B) Consistency assumption
(C) Cost concept (D) Matching concept
qy-yid—ay gE & e fafs A, emeifa i §:
(A) T FIEE FILROT T (B) ¥adr AAdr 94X
(C) «@rTd qERIM W (D) ™™ SEErRen 9T
8 Additional amount, introduced by the owner in the business, is known as: 1
(A) Assets (B) Profit
(C) Drawings (D) Capital
@l g FaEE ¥ afafed ISt @1, HEdr @
(A) €t (B) @™
(C) amexm (D) dstt
9 As per Double Entry System, salary paid I 1,500 will reduce the cash 1
and .
(A) Reduce capital (B) Increase liability
(C) Reduce expenses (D) Increase capital
fg—aiw womell & oA % 1500 dq9 YA B UX Tbs A HHI
Bl |
(A) G F @ (B) ¥l & gfs
(©) awi # @ (D) 3 ¥
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10 Invoice is a source document for the purchase of goods

(A) for cash (B) on credit

(C) on cash or credit (D) None of these
A %Ha HE X d9h T @ 0 2

(A) ™ba (B) wu

(C) -g r¥ar IU (D) 379 ¥ B @l

11 Salary paid to employees will be affected the:
(A) Cash A/c and Salary A/c (B) Only Cash A/c

(C) Only Sales Alc (D) Outstanding Salary Alc
HHATE Bl Ia A B 9T YHIfad /e
(A) U®bs @A TAT IA9 Q@I (B) %ad UHS Wl
(C) haw fasa w@ran (D) e daq w@rdn
12 Goods sold to Ram for ¥ 25,000, will affect the following accounts:
(A) Sales and Cash A/c (B) Sales and Ram's A/c
(C) Only Cash A/c (D) Only Ram's A/c
I & T 25,000 B 9@ g4 o @ gwifad @R
(A) Taopg T AHS @I (B) fespa qer I &1 @i
(C) %ad UHS WIal (D) %ad TH &1 @I

13 When goods are purchased for cash and discount received, then how
many accounts will be affected?

S¥ THe 9§ AW @l SR g2 U fhan, @ fedd @i gwifed i ?
(A) 3 B) 2
<€ 1 (D) 4
14 Goods destroyed by fire costing I 8,000, market price I 10,000 will be
credited to:

(A) Sales A/c % 8,000 (B) Purchases A/c I 8,000
(C) Sales A/c ¥ 10,000 (D) Purchases A/c I 10,000

X 8,000 &1 @R &1 AW, e s g < 10,000 &1, SR ¥ A & T,
ar g s fear SR, @® R

(A) faea @t 8,000 (B) @a @mar T 8,000

(C) fapa @@ T 10,000 (D) % @@ T 10,000

15 Paid T 18,900 to Raju in full settlement on his account I 19,000 will be
recorded in .
(A) Cash book (B) Journal proper
(C) Purchases book (D) Journal
T % % 19,000 % goi Fraem &g T 18,900 &1 g fopar war, df 39 fores
sTfeiRad fepam ST ?
(A) Tws @ H (B) & TsHmar o
(C) »a & o (D) oETTEr o
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16

17

18

19

20

Cash book is called a :

(A) Book of original entry (B) Special book
(C) Final Book (D) None of these
Abs TE FEARN &

(A) @ ufafe & T8 B) fasw «&

(C) siftm & (D) ™ ¥ Br5 Tl
How many columns are there in simple cash book in total?
ERY Tws T8 A Fo fhad WH B 8 7

(A) 8 (B) 4

€ 5 (D) 6

Which of the following is a limitation of a computer?
(A) Speed (B) Accuracy

(C) Memory (D) Intelligence
= 9 ¥ &g & UH 4 dE-|l §7

(A) i (B) @rehar

(©) = (D) dfs

Which of the following is an operating software?

(A) MS-DOS (B) Window XP
(C) Tally (D) None of these
e & 9 Yo "edaR -4 g7

(A) T4 T§ =™ (B) fd=t wam W
(C) 2 (D) = & Big T

Which of the following is the major components of a computer system?
(A) Hardware and Software

(B) Software and Humanware

(C) Hardware, Software and Humanware

(D) Input unit, Output unit and Central Processing unit

HILT YOS & JeI Heh T\ H § -9 7

(A) TR T FWHRIAT

(B) WweEX 9 &gHAEaay

(C) TR, AHRIIAT qUT AT

(D) oFa 3o, FAid s qoT hErE THE 3@

[y
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SECTION-B / fauri-B

(Question No. 21 to 29)
(Weq wEm 21 q 29)

21

22

23

24

Match the following : 1x2=2
Name of Account Nature

(a) Capital Account (1) Asset

(b) Building Account (i1)) Liability

= & e sifea:
ad & M T

(a) YUSi @ (i) wuta

(b) waT w@rar (i) IFar

Fill in the blanks: 1x2=2

(i) CPU is said to be the of a computer.

(1)) Accounting software is used to perform the function.

g wm 9w

() @ & g B FRERT @ % Sl |

(ii) HE Mofed & &g W@ied A9eddl YA R S §|

Complete the following statements: 1x2=2

(i) Business transaction is a exchange of
(i1)) Under cost concept asset is recorded at

freafaiaa waai @ Qo iy :

(i) =@ a=d @& fatma e 2
(i) T STILRON & Siqid TuRT T UX SITeiRad fopam S &1
What are the two aspects of each of the following transactions? 1x4=4

(i) Started business with cash I 50,000.

(i) ¥ 10,000 paid to Jeetu a creditor against goods supplied by him.

(iii) Furniture purchased for ¥ 40,000.

(iv) Salary due ¥ 5,000.

1 & 9 Y% e & S U FI-T | 7

(i) T 50,000 Ve ¥ FaEE RN fepar|

(ii) TP WER S @I, 3°b & 91 &l 3gfd & 9 I 10,000 &1 g
femam |

(iii) T 40,000 &1 B+ @lET

(iv) @ <3 gsm T 5,000
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25 Give one word answer for the following: 1x4=4

(i) Which convention state that the immaterial amount / items may not be
recorded?

(i1)) Cash and goods withdrawn by the proprietor from the business is
called

(iii) Goods unsold during an accounting year named as .

(iv) When revenue is more than expenses, the difference is called

= &1 S e 9= | A

(i) e STEERoT & FFER AREN WRE/FET & afieiad T8l fean S ey ?
(i) THA @ g FIad § Mo T Uee qur 7 R’ B 7
(iii) w@r af &% ofd o for fqer =@ w0 FHeawm 7

(iv) SI9 oM, =9af § offtes &, o ofax @ WY w1 sheal & 7

26 Match the following: 1x4=4
(a) Current asset (1) Bills payable
(b) Current liability (i1)) Prepaid expenses
(c) Cash withdrawn (ii1) Capital

(d) Cash introduced in the business  (iv) Drawings

fr=fafaa & fam @l

(a) =T HurA (i) =z fqus
(b) d T (i) vdea =04
(c) bs ol el (iil) g
(d) =Iag™ ® Ukbs @T (iv) emeTer
27 You have given the following transactions to identify whether these 1x4=4

are debit voucher or credit voucher or transfer voucher?
(1) Goods return to suppliers

(i1)) Selling goods on cash

(iii) Payment to creditors

(iv) Bad Debts

e = o T WSl | UeA § 6 A AW YA STUEn ST YO STedn
SR YHIG ¥ HEad @ 7

(i) omqfimatett & A@ adE fepar

(ii) -bg T o

(ili) eI @I qrae fepar

(iv) 390

““UNNATI EDUCATIONS

For Solutions, Contact Us
9899436384, 9654279279



28 From the following transactions, which account will be debited and 1x4=4

credited?

(i) Rent paid I 6,000

(il) Goods withdrawn by Jeetu, the proprietor for I 12,000.
(iii) Interest on capital I 20,000.

(iv) Cash deposited into bank I 10,000.

e oel § dF-oF ¥ @[ A S0 SR BM—dM § ST BNl 7
(i) fexmr ymam fear 6,000

(i) =UR & @Ml sig & < 12,000 & A1 & e

(iii) et ox == 320,000

(iv) §& ® T 10,000 Tk AT feRa|

29 State whether the following statements are True or False: 1x4=4

(i) Computer is a machine which acts on a set of instructions.

(i) Hardware and software are essential for computers, whereas humanware
is not.

(iii) Data cannot be shared unless the computers are networked.

(iv) We can also maintain the record of stock in tally.

gaEy e = e @ € ser s

(i) %X T A9 & S ogesll & 990 W & &Il ¢

(i) H X 57 TRITX Ud WA SIa™ § Wafh egATaal 8|

(ili) 99 q% &YX ¥ "Aead A =, ST A3 A&l fhar S gwharl

(iv) &9 el ¥ Wy @l offvaer Wi T@ dahd ¢ |

SECTION-C / fasm—C

(Question No. 30 to 45) Internal choice have been given wherever necessary.
(w97 @Em 30 A 45) i e A ™ ¥ @ 9w B

30 (a) Why is Trial Balance not a conclusive proof of accuracy of Books
of Accounts?
A CACEC e e o ) et M B e e | B E
OR / sy

(b) Give two differences between Cash Book and Cash Account.
Uhe € T TUhs @A & 9 I fax ARl

31 (a) Briefly explain the rules of debiting and crediting the various
categories of accounts as per traditional approach.
WA Usfd ¥ @l & [ SRl & W g S e & el @l
i e Sy |
OR / sy
(b) What is voucher? State the various types of vouchers.

YA T & ¢ YHITRI o (A~ Y Sdigdl

““UNNATI EDUCATIONS

For Solutions, Contact Us
9899436384, 9654279279



32

33

34

35

36

Name the types of errors which do not affect the Trial Balance. 2
AU Bl YHNGD T & el AYREA b FbRI & AW S|

(a) Why is Trading Account prepared? 2
MR @Al F S Sl g ?

OR / 3t

(b) Give two objectives of providing depreciation.

T @ & &l 3899 S|

Give two differences between Original Cost method and Diminishing 2
Balance method.

W @ fafy g wtea 9w fafr & = @ eidx difvm)

From the following items, prepare Balance Sheet of RST as on 2
318t March, 2024 :

Cash .......... ... .. ... < 4,000

DebLOrS ..oevvvviieeeeeeieeeeeen 3 14,500

Furniture ....ocoeveeeeeeeeeeeeennne. < 10,000
CreditorS.....uvveeeeeeeeeeeeinnnnn. < 17,800

Closing StocK.........cceenen... < 10,000

Motor Car .....cccevvueeevvunnn.n. < 20,000

Capital ..ccoooeveereeieeieeiiene, < 60,000

Net Profit......ccccoceevevencnnnee. < 5700

Machinery ........cccocceeeveevennene < 25,000

1 wef @ o ww & @1 31 9, 2024 @ gEd 9 SR
BT oo < 4,000

TR oo, 3 14,500

T e, % 10,000

TR oo < 17,800

ST WO v < 10,000

TART B e T 20,000

TSI oo < 60,000

TS TH oo, < 5700

T 1o, < 25,000

What is Contra Entry? Give an example of contra entries. 3

gfa-—vtafte @ar &7 gfa-gfafteal @1 usw Igeder |
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37 (a) Define depreciation. State two advantages of providing depreciation. 3
BE bl WA @I | § W 6 & W Syl
OR / sy

(b) How is the depreciation shown in the financial statements? Give an
example.

foig faeont & =@ & Y 9T ST &7 Uk a0 SIWU|

38 What is Trial Balance? State its main features. 3
JA9E R g7 3D ged fasivand gasu|
39 Surjeet & Co. purchased a machine on 15t April, 2020 for ¥ 66,000 3

and spent T 4,000 towards freight and installation. The firm decided to charge
depreciation at 10% by straight line method. Show the Machinery Account
for 3 years assuming that books are closed on 315t March every year.
g wus Huer A 18|, 2020 & T 66,000 B AL @R a9 $H W
% 4,000 wi? wd ¥ g @@ R wH Y ut@ wEn fafy ¥ 10% zeod
&1 i foan 98 7md gu 6 der-gwe ufa ad 31 W @ §g @ o E,
3 99 @ "I WA §9Ru|

40 (a) Explain outstanding expenses. How are these shown in the 3
financial statements?

ed Ial B 9uE wine | F o faaret § R wer <ol W E°
OR / 1zt

(b) On 15t April, 2023, Prakash Bros. bought a machine for ¥ 90,000 and
spent T 6,000 on its installation and I 4,000 on its carriage. Its life
was estimated to be 20 years. Calculate amount of depreciation expense
to be charged to the Profit and Loss Account every year.

TeBTT s1E8 | 1 3, 2023 &7 T 90,000 Y Ueh [ @IS qAT Ik TR
X T 6,000 3R 9w X T 4,000 =97 R Iger ogwia stew 20 ad
IT| ATH-EI @ ® Ui au giia o S 9t g o i afiefad sifg |

41 (a) RUS purchased a plant for ¥ 40,000 on 15t April, 2020. 3

On 15t October, 2023 plant was become obsolete and sold at a loss
of 20%. Depreciation charged @ 10% by straight line method and
accounts are closed on 315t March every year. Find the loss on sale,
which will be shown in the Profit and Loss Account.

ARG UE A 1 a0, 2020 & T 40,000 &7 TH A @ET| 1 srR@ER, 2023
B HIT ATETTd B T qT 3H 20% I B U S M| qHE R wsfa |
10% &I 3T ¥ TE @M ol § 991 o@r geas gfa a9 31 91 b §% @
S & | A1 @ 9 S el sk wX B @ Wit | Sl

OR / 3t
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(b) From the following information prepare Profit and Loss Account of
M/s RRSS for the year ending 315t March, 2024:

Salaries and wages ............ < 30,000
Commission paid.................. < 2,000
INSUTANCE ..eevvveeeeeieeeeeeeenen. < 4,500
Carriage outward .................. < 9,000
Discount allowed................ < 18,000
Bad-debts .....ooevveeieeieee. < 9,000

Gross Profit was 30% of sales, which amounted I 4,00,000.
o go ¥ S99 oR. o, WH. WH. & 99 gEitd 31 W, 2024 %G
T8I @l SR

ATT T AAGU v T 30,000
FHHITT A o T 2,000
AT e, < 4,500
ST AT ST < 9,000
TZ& TG v < 18,000
TET T e < 9,000

% 4,00,000 &1 fosea, @ 9X 30% THha @H o7

42 (a) The following Trial Balance is drawn from the books of Commerce 5
Excellence. You are required to comment whether it is correct or not.
If it is not correct, draw the correct one.

Trial Balance as on 315t March, 2024

Debit Balance (%) | Credit Balance )
Building 60,000 | Capital 73,600
Machinery 17,000 | Interest received 2,600
Purchase return 2,600 | Debtors 60,000
Bad-debts 2,800 | Fixtures 5,600
Cash at bank 400 | Sales 1,04,000
Discount received 3,000
Bank overdraft 10,000
Creditors 50,000
Purchases 1,00,000

2,45,800 2,45,800
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HAY THME B gae 9 T qade

TE GE T ofudr WEf| Afg @E 9 ® o 9 ®Y ¥ R

foan T %) oew fewol wifg e

e 31 "7 2024 |
T A ) | s s )
CCE] 60,000 | it 73,600
A 17,000 | =amt wr 2,600
D EGIRK) 2,600 | IMER 60,000
Sgd I 2,800 | Tporad 5,600
¥& ¥ Tne 400 | fespa 1,04,000
Ceealiel | 3,000
o erfafamd 10,000
REIR 50,000
EiD) 1,00,000

2,45,800 2,45,800
OR / 3

(b) Why is ledger called Principal Book? Differentiate between book of
original entry and ledger.
GIAEE! B Y9 S8 Fi Bl ol ¢ ¢ A UAhe Bl g8 qd1 WIaEel &
d9 sfade HIvTg)

43 (a) What do you understand by financial statements? Briefly explain
the final accounts.

foim faaeont 9 omuenr @ efiym ¥ 7 oifom w@ial @1 d@ftta auie @ifsal
OR / Jtyan

(b) Prepare journal from the following transactions and post them into the

ledger of Surjeet & Bros:
Business started with cash ¥ 20,000.
Goods purchased for cash I 15,000 and credit from Raju I 4,000.
Goods sold to Mohan for ¥ 10,000.

(1)
(2)
3)
4)
(5)

Cash received from Mohan.

Salary paid ¥ 3,000.

e @9eAl ¥ US98 qUT gIeid U0e §ed ol @il S8 H @dmn
[:
Uhe ¥ FaE™ gy fear T 20,000

(1)
2)
3)
(4)
(5)

T @l Jbs d@ I 15,000 Fom TS ¥ wER @&t < 4,000

Aed @ A d=r 10,000
e ¥ UHs W< g3
JaT e fear T 3,000
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44 Enter the following transactions in a single column Cash Book of 5
M/s RR :
2024
October
1 Cash in hand ¥ 25,000.
5 Goods Cash purchases T 5,000 and credit purchases I 6,000.
9 Cash sales I 8,000 and credit sales I 10,000.
20  Furniture purchased for cash I 3,000.
25 Received commission I 4,000.
31  Salary paid to worker ¥ 3,000.
1 WAl @ AEE o 8T &l Udh W™ s 96l # Jfawe Sy -
2024

1 T Ude T 25,000

5  Hee T @ier T 5,000 qUr suR @iEr 6,000
9  +oe fama T 8,000 qur IR fama T 10,000

20 EER des ¥ @aer 3,000

25 HHYHE I < 4,000

31 &Ha@l & da" gaE 3,000

45 From the following information prepare Trading Account, Profit and 5
Loss Account and the Balance Sheet of SS Trading Company for the year
ended 315t March, 2024 :

L4
Carriage on sales ........ccecveeenneenn. 2,800
Sundry Debtors.......ccceeeevveennnee. 29,600
Purchases......cccooeeeeeeeeeeeeeeeennn. 1,44,000
Opening StOCK .......cceeveeeeveeennnne 21,200
Salaries .....oovvveeeeeiiiiiiiiiiieieeeeeeeens 8,400
Sales oo 2,20,000
Discount (Dr.) ceeevvveeeiiiieeiieennee, 1,600
Return inward........................... 2,000
Machinery .......coceevveeecveeenneeens 40,000
Carriage inward .........cccceeevveeennnen. 3,200
Rent and TaxesS.......cccccvvvvvuunnnnn. 11,600
CaSh..ceeeeeeiiiiieieeeeeee e 8,800
Capital ...occvveeeiieeiieeeeeeeeeee, 63,000
CreditorsS ..uuueueeeeeeeeeeeeeeeeeeeieeeeeeeeees 24,400
Furniture ..... .o 20,000
Wages ..cooviiiiiiiiiiiiiieceee, 9,200
Office expenses .......ccccceevveeenneen. 4,000
Return outward...........ccovvvvvvunnnnn... 1,000
Commission (Cr.)....ccccceeeeevveeeennnns 1,600
Insurance Premium....................... 3,600
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Adjustments:

(a) Closing stock was valued at ¥ 25,600.

(b) Office expenses T 600 and wages I 800 are outstanding.

(¢) Prepaid insurance I 400.

(d) Depreciation on machinery and furniture @ 10% p.a.

o g ¥ e wm R duel @1 9 gEifa 31 A, 2024 61 @9 @i, qmw-
TN @ U Sl fafr @ gea-ad SR

4
fIhT T BT oo, 2,800
fafaer I9ER o 29,600
P AT KAWL 1,44,000
UTHD TEITAT wevveeeeeeeeeeeeeeeennne, 21,200
TS ... oo T 0o 8,400
TIT oo, 2,20,000
FZZT (AH) oo, 1,600
A ATTET STTD c.vveeeeeeeeeeaeeenns 2,000
YT oo, 40,000
3D ATA ST covvviiniieineeinennnnns 3,200
AT T BT oo 11,600
UES ......... 8,800
oL .. 8 63,000
TTET e 24,400
17155 £ SURORUROPRPRPPRO 20,000
TGN oo 9,200
BTATAT T oo, 4,000
A ATTET STEAB cevveeeeeereeeeeeennn, 1,000
BHIITT (STHT) oo, 1,600
FET WRET oo 3,600

LEIDIEE |

(@) oiftr @i & T 25,600 qwifea forar wam o
(@) waea @@ T 600 qur gwgdl T 800 oEd ¥

(M gdea s T 400

@) "D qUT B W 10% fd 9¥ @ X ¥ ' el
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